._'_pacltance of a capaf:itor [S i
irectly proportional to the charge q glven to it

%b}' Inversely proportional to its potential V
Jdirectly proportional to the charge q and inversely proportional to

" the potential V
d) lndepenclent of both the charge q and potential v. __
The electric field inside the two opposite charged plane sheets each of

charge density o is
a) o/2¢, b) - o/2t, c) ofs, d) zero

A semiconductor with a negative temperature coefficient of resistivity
15 €alled a5 .i.cociiciniiiiiinn
a) conductor b) superconductor ¢) thermistor d) insulators

The internal resistance of a 2.1V cell which gives a current of 0.2A through

a resistance of 10Q) is

a) 0.20 by 0.5Q ¢) 0,80 d) 1.00

Two wires of A and B with circular cross section are made up of the same
naterial with equal length. Suppose Ra =3Rg, then what is the ra'ﬂe qg

' of wire A too that of B?
b) c) 1\ d) m ; §

ting law, when R and t are mnstant, If 1
along the x‘axl'if_jthn 5




) hat I_s _S_eebeck effect?
What is polar molecules?

PART - C
o Answer any three questions and question No. 18 is compulsory.
" 16. List the properties of electric field lines. 3X3=9_
| 17 Derive the expression for resultant capacitance, when capaciters are

connected in series. g

18. In a meter bridge experiment, the value of resistance in the resistance
box connected in the right gap is 10Q. The balancing length is /1= 55 cm.
Find the value of unknown resistance.

19. _-State Kirchhoff's first rule, second rule.

20. erte the properties of ferro magnetic materials.

PART - D 4

Answer all questions. 2 X.5=10

21, Exeplaln in detail the construction and working of Van de Graff generator,
(OR) « .|

‘L QIR = 1)
Qeﬂve an expression for electrostatic potential due to electrlc dipele anej

) 'cliscuss it various aspects.
the condlﬂon for bridge balance in Wheatstenes bri ge.

' (OR) " R T b
'f‘ﬁaﬂ"ﬂ-*?f:filf!gernal. .t:eg_ﬁl, tance a cell usin




